Chapter 1 percentage Summary Notes
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Percent Increase
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Percent Decrease

The decrease decay factor is
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Phrase % Multiplier/Decay factor

60 % decreasd
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Phrase % Multiplier/Growth factor





image8.png
» Rate = 10% charged on the supply of most
goods and services consumed in Australia

Amount of GST = w and Amountof GST = w
. cost with GST
cost without GST = 1

cost with GST = cost without GST x 1.1




image9.jpeg
Converting LENGTH Units

Itis easiestto use a conversion look-up diagram like the one below.

x 1000 x 100

Skm=2?m Need to x 1000 5 x 1000 = 5000m /
120cm=?m Need to + 100 120+100=1.2m /
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Converting MASS Units
The Mass for weighing objects in Metric Units is similar to Capacity for Volumes.

In the Metric System, Mass is based on the Gram or “g” unit.
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Mass conversions use 1000's, and usually create fairly large results.

1.6tonne =?2kg Needtox 1000 1.6 x 1000 = 1600 kg /
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A RATIO is a quotient
that compare 2 quantities.
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These are all the same.
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A is an equation
of two equal ratios.

50miles 25miles

Adgallons 2 gallons
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the Extremes.

the Means.
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The product of the means

equals the product of the
extremes.

Cross products are equal.

2412=3+38
24=24
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To Solve Proportions

Find n E

9n=(3)(6)
9n=18
n=2
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Unitary Proportion
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Percentage Change
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